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_~7. The Ninth Schedule

6. Consider the following statements :

1. The motion to impeach a Judge of
the Supreme Court of India cannot
be rejected by the Speaker of the
Lok Sabha as per the Judges
(Inquiry) Act, 1968.

2. The Constitution of India defines
and gives deiails of what
constitutes ‘incapacity and proved
misbehaviour’ of the Judges of the
Supreme Court of India.

3. The details of the process of
impeachment of the Judges of the
Supreme Court of India are given in
the Judges (Inquiry) Act, 1968.

4. If the motion for the impeachment
of a Judge is taken up for voting,
the law requires the motion to be
backed by each House of the
Parliament and supported by a
majority of total membership of
that House and by not less than
two-thirds of total members of that
House present and voting.

Which of the statements given above
is/are correct?

(@) 1 and 2

(b) 3 only
(c/ 3 and 4 only
(d 1,3 and 4

was introduced in
the Constitution of India during the
prime ministership of

(a) Jawaharlal Nehru

(b) Lal Bahadur Shastri

(c) Indira Gandhi

(d) Morarji Desai

BKL-F-GHP/54B

8. Consider the following statements :

1. Coal sector was nationalized by the
Government of India under Indira
Gandhi.

2. Now, coal blocks are allocated on
lottery basis.

3. Till recently, India imported coal to
meet the shortages of domestic
supply, but now India is self-
sufficient in coal production.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d) 1, 2 and 3

9. Consider the following statements :

1. The Parliament (Prevention of
Disqualification) Act, 1959 exempts
several posts from disqualification
on the grounds of ‘Office of Profit’.

2. The above-mentioned Act was
amended five times.

3. The term ‘Office of Profit’ is well-
defined in the Constitution of India.

Which of the statements given above
is/are correct?

(a) 1 and 2 only

(b) 3 only

(c) 2 and 3 only

(d 1,2and3

0. Under which  Schedule of the

Constitution of India can the transfer of
tribal land to private parties for mining
be declared null and void?

(@) Third Schedule

(b) Fifth Schedule

(c) Ninth Schedule

(d) Twelfth Schedule

(P.T.O.

Scanned by CamScanner




Scanned by CamScanner



‘Al. Recently, there was a growing awareness

3 14. Which of the following statements are
0 3
;1;1 u’l' country abou.t the importance of correct about the deposits of ‘methane
Snarayan Tlettle (Girardinia diversifolia) hydrate’?
because it is found to be a sustainable
source of 1. Global warming might trigger the
(a) anti-malarial drug :;hasi of methane gas from these
(b) biodiesel S
(c) pulp for paper industry 2. Large deposits of ‘methane hydrate’
: are found in Arctic Tundra and
(d) textile fibre under the seafloor
12. For the measurement/estimation of 3:¢ Msthane i-n ?tmosphcre oxidizes -
which of the following are satellite carion TR E . T a
images/remote sensing data used? Vi
1. Chlorophyll content in the :
: ct answer using the code
vegetation of a specific location SFlcct ;};;:O:?rrc .
& iven -
2. Greenhouse gas emissions from 5
rice paddies of a specific location (@ 1 and 2 only
3. Land surface temperatures of a

specific location (h) 2 and 3 only

Select the correct answer using the code

(c) 1and3 only
given below.

{a) 1 only (d 1,2 and 3

(b) 2 and 3 only

(c) S e 15. Consider the following :

@ e 1. Carbon monoxide~"
/IS. Consider the following States : 5 Methanet—

1. Chhattisgarh 3 Ozone

e 4. Sulphur dioxide ”

3. Maharashtra

4.4y00isba Which of the above are releaseFI irlt;_
i ference to the States mentioned atmosphere due to the burning
w‘t;th rc'cri:rms of percentage of forest : crop/biomass residue?
above, in wich
f State, whiC
. over to the total area g

c(im: of the following 18 the correct (@ 1 and 2 only

ﬁ& ascending order?
(@ 2-3-1-4 '{c)’ l' gy
(b) 2-3-4-1
(c) 3241 (d)—1,-2,-3-and-4

e @ 3-2-14

(PT.0.
BKL-F-GHP/54B
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56. ‘RNA &y [RNA $20h (RNAi)) sheifieh) -
I od Fo aul § wwhaa wfte w0 4. o = # ""“"ﬁ“‘mp/
it? Ll
1

1. 3@ 7 sfvsfeao (sh argetfim) |

il % R v @ 21 It
2. W Fw A fufran A IMvan fefa (@ 132

A ¥ WY R S wean R
3. @ TN whweyw IMver fEfn w3 BB 2N

g W e w2 (c) 1,334
4. @&mmmaﬁwﬁ%mm X 4

a1 W B, S fwm Qe % e

o wferieh @

59. Wg: GHTET § A aTel Cas9 WA 1 87

ﬁﬁﬁm@mmmaﬁmaﬁm .
ey (@) wEa-wft| o @ (TS oy
Ty wfefen) # wgee snfoass &
o (b) A F Yl 1 GH-SF e F
([d) 94 1 iR 4 i, ¥ :
() TH SH S 9Rdl 1 digh-gfidt F9m
57. T @ F WP ¥ et ¥ ot www-ad . 1
foesr eEe & faem = g R (d) a@aﬁmmaﬁamsﬁﬁm@rﬁﬁﬁ
T8 IEV F 1 TE 87 EISIRCICE NG|
(@) ‘fem awia Foi &1 SifEm gam|
(b) T aEI H AFHE gan| 60. T=iafed 3 3 FF-T1 = = 8 T 27
(c) THEIA’ | A §Y q-HATHAY Sk (a) FFaTY B fem] FTH T3 HIV 0%
arn i Gy i g g B w=ia B R i
=i : |
(d);ﬂﬁhﬁjmmﬁam(w) (b) TFAMA C W Fw B 2, &
o TP B H b A
58. fififan # & #9-3, W@ § gERR (c) WA 9 & wpawie B 3 C fumed i
e § wg-imy gy % 83 H w0 §7 W =fte ) wen HIV & wEtn
shfsedrsiiom) 1 € (d) TFaE B 3R C Rt ¥ wxln 9
2. UM % 3IwmR & oy wfesfas AT # 3 a6 9% 39 wew En
(Ufearanizaa) 1 Td Guah o ENE]
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76 \Uhi(fh one of the rD“Qwing su
the Governor should
person from outside ¢

Beested that
;‘i an eminent
€ State and

79. In India, which of the following review
the independent regulators in sectors

should be |‘E:- dclziached figure without like telecommunications, insurance,
intense political link u lectrici
L have taken part i ? ,0" should not T :
o : n politics in the recent 1. Ad Hoc Committees set up by the
past: Parliament
[ (a) First Administrative Ref 2. Parliamentary Department Related
Commission (1966) =IRAIE Standing Committees

»] Rejamantie : 3. Finance Commission
( Committee (1969) 4 Financial  Sector  Legislative
; . Reforms Commission
(d) iivanct?al Commission to Review the 5.  NITI Aayog
orking of the Constitution (2000)

(¢) Sarkaria Commission (1983)

Select the correct answer using the code
given below.

(@ 1 and 2

(p) 1,3 and 4

(¢ 3,4 and S

(d) 2 and 5

L 77. Which of the following is issued b

rc’giStCI‘ed_ foreign portfolio investors t)(;
overseas 1n\festors who want to be part
of the Indian stock market without
registering themselves directly?

(a) Certificate of Deposit
80. With reference to India’s Five-Year Plans,

(b) Comrflermal Paper which of the following statements is/are
(c) Promissory Note correct?
(d) Participatory Note 1. From the Second Five-Year Plan,

there was a determined thrust
towards substitution of basic and
ital ind ies.
1. As per law, the Compensatory 2 CT‘;pl : g:t;dFl:n lifsme;hn Sy
Afforestation Fund Management : £ Fourth XIvesiT e
the objective of correcting the

78. Consider the following statements :

and Planning Authority exists at ' !
both National and State levels. zﬁ?nm;;c:d = °fwe alut;ncrea:;i
2. People’s participation is mandatory economic power.
in the compensatory giforeatauion 3. In the Fifth Five-Year Plan, for the
programmes carried out under the first time, the financial sector was
Compensatory Afforestation Eund included as an integral part of the
Act, 2016. Plan.
Which of the statements given above Select the correct answer using the code
is/are correct? given below.
(@ 1 only (@) 1 and 2 only
(b) 2 only (b) 2 enly
() Both 1 and 2 (@ 3 only
(d 1,2 and3

(d) Neither 1 nor 2

| - [P.T.0.
KL-F-GHP/54B

Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



91. W snwyife-gmm fRAwm dw  [UREE
TRgFR awdz 4% (AIB)) % @ed #,
Frafafea wuat w fran Hf
1. AlIB & 80 @ a1fyys wew UY &

2. AlIB # WG §e@ ag] R B
3. AIB # tfRmn @ w1t #1 #1 uqe Tl
R

ST A} B-w1/Q o w2/
(@) Fas |

(b) ¥« 2 3 3

(c) a1 3k 3

[d 1,23k 3

92. T @ %, Wi 4 ok R wensi T
SIR-FRMM FR (5w k) w
FRIER F1 F1 F41 k9 917

(@) ¥RG WEFR & TS wR iR Wi,
ol R ¥ e veY A uR A %

Lo

(b) FE 3R T THERT A MR-
SRS ) Gae e F@T

(c) €50 Fg T 3T F w0l ¥ et F
A § WA ame % w9 w7

(@ €50 #g T A N TaEEE
Rl (Gre Wew) #, N gz-uw
Ul (Flifean dfen) ¥ swia §,
i asft ¥ THEE FQ F G959 TG

93. WENF &A% Fi &% FAL H T B T
44
(a) ﬁmaﬁéa{a
(b) ¥ ford 9
(c) #51 fad Harerg
(d) Hafta §% F1 yeyq

BKL-F-GHP/54B

. Frfem e W Fre IR
WWWWW%
pafrm T2 @ T TR g

(PNGRB)] 9@ 8T &I w1ty Yo
e Frem 2

2. PNGRB #1 7% & 4 % o wftwi
] #1 gRfaa e 2|

3. PNGRB % ffal & fawg srfie, figg
arder srferaor % wma i St B

I B @ H-8 Fe T
(@) Fad 1 3R 2
(b) Faa 2 3R 3
(c) Faa 1 3R 3
(d) 1,2 3R 3

94
1.

95. w9R Wrenfif¥al % @ed #, LTE (wf1-=d
W) 3R VoLTE (afg® afax wi=r-2i
FAIA) & o9 = i@ 2/E7
1. LTE %! W9RE: 3G ¥ %9 & fagPm

& sm@ ® 9w VoLTE #1 wrmom:
390 3G % ®9 # faufora fran s 3

2. LTE 3a-#Hfd aa+f% 2 3 VoLTE
q58- 3T qate B

A9 fow T 2 @1 sem a w@ ww ghg
(@) a1

(b) e 2

(c) 1 3R 2 3

{d) 3d1,98 2
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' with reference to Asian I
In\rcstment Bank (A]IB) n
following statements : )

lis

frastructyre
consider the

AIIB has more than gg

nations. member

India is the largest b
re

AIIB. holder in

AIIB does not have iy
from outside Asia members

which of the statements giv
js/are correct? given above

(a)
(b)
(c)
(d)

1 only

2 and 3 only
1 and 3 only
1, 2 and 3

92. What was the purpose of Inter-Creditor
Agreement signed by Indian banks and
financial institutions recently?

(@)

(b)

()

(d)

93. The Chairmen of P

To lessn?n the Government of India’s
perennial burden of fiscal deficit
and current account deficit

To support the infrastructure
projects of Central and State
Governments

To act as independent regulator in
case of applications for loans of
# 50 crore or more

To aim at faster resolution of

stressed assets of 50 crore or

more which are under consortium

lending

ublic sector banks are

selected by the

(a)
(b)
(c)
(d)

Banks Board Bureau
Reserve Bank of India

Union Ministry of Finance A
Management of concerned ban

41

KL-F-GHP/54B

. With reference to

94, Consider the following gtatements :

1. Petroleum and  Natural Gas
Regulatory Board (PNGRB) is the
first regulatory body set up by the
Government of India.

9. One of the tasks of PNGRB is to
ensure competitive markets for gas.

3. Appeals against the decisions of
PNGRB go before the Appellate
Tribunals for Electricity.

Which of the statements given above are

correct?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(@ 1,2 and 3

communication

technologies, what is/are the
difference/differences between LTE
(Long-Term Evolution) and VoLTE (Voice
over Long-Term Evolution)?

1. LTE is commonly marketed as 3G
and VOLTE is commonly marketed
as advanced 3G.

2. LTE is data-only technology and
VoLTE is voice-only technology.

Select the correct answer using the code
given below.

(@ 1 only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

[ P.T.O.

___—#
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